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 انرژی ذخیره شده و انرژی در حال حرکت
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 چگونه انرژی را اندازه می گیریم؟
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 تبدیل انرژی
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 انرژی گرمایی
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 �� ��IR 

 

0 5F64 �% y�0 ) h��4 � S+ (50� !�� 5+���. 
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,�
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 �� ���
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�z ��� ��� �'��0   �!��� A
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�+J �� .�% $ !�� H� s� �*�"� 2+�
%� % .�  � �� 
' �� A
, y�0 �*�( ��7 $ 
$� �� 2�+�' 
� 

0 y�0 . 5�
8 2+�

!
+�
 50� ��.  

50� ���
F� ��� #�+
7 2�F� 9D�8 /Bl� �H� � �� t�68� ���( �� w��( �
 �� �
�% .    �+���
�% �� ������� ��� �� 2+�

�$ �� �+�
 ;+
�� ����F?�% 
 .50� 
� ;:0 

0 ���� �� A
, ���� .
$� �� .�% 2+�
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 )  
$� ��� .�% �� .( �



�� �� m�M 
�% 5?7 �/� )�� .50� 98�0 p�( �� 
� A
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 )�I��� !�� 2+
(J f%��50��
, . �7 #$
�% #�� �0
% �� �% 5�
F� �+ $ f��0� h+
� �� ����� �F� �����( ���
, $ ���



�"% 3��D !
�� h+
� �� ����� �F� ��
�� )�I��� 2+� $ 50� |Y( WY��� 2���. 

 �  � �� 5�
8 50�� X( �% �����( ��� �S��) �� #J �%"   �+���
, ��� �S��"     H�+��, ��� ���� (  �� ���
, $  9�I� �

�� �  � .H�+�, �� f%�� ��+��
, ��
�� )�I��� �� @�� 2+� �%. 
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��G�% fC% �!
�� }�R0
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�G�% fC% �2�$� }�R0 $ ^P7 �� ��� .$� ��� t�:* #��6%�� �
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